lecturemania

Srwz Sas BU7 frnm eabis

Froba “zd'éﬂ. A2 Foribirors
Mear o Vavara

Con £5P0Os  flosabp Uerdbles.

ﬁmcé,” Vaﬂh/é‘,ﬁ_

"o 7= )

Lrscrefe G e L.
X tohes Mawbers. e X #‘vz-m;m ove—
] .
Aty aiomlen 5 s i & wepht o
- MW & = =
::;ﬁ‘lw o _Q,é.:,éc/ MJMA éa;f;l—
pecp - Wca.{él food
esns g~ a}éaém{z{-ed__ M/Mﬁu_ afa J/u%z“f
a rarbmby selekd fomy ot et
Y

Liscpr7F Aavvarr WaRTRsLEAS

Lot FO) b giver. f6) trost Iﬂ:é‘%_ Ao ,éég,wjﬂ
conds foons. Fo be a ;mngy;@_ e Hircdins” famd)
of a obierete ranabm verable : X

( 7 /(x) >0 J"’Mﬁ:"__ﬂﬂz;&e_ fobab bires

(i) = ) = Pak ot ,m?é’aé'/éj/ » £

B, for dixcrefe cope, We Aaug "
. e 7Fdss ﬂx/ el
PUX=x) = ffJ‘JEMf”/MMJZ}L ot X=x.
- & piwertal Value @

Alp Giray Ozen | 0533 54991 08 | alp@lecturemania.com | www.lecturemania.com

Vm‘d‘&_



lecturemania

Efwjéii
(b} f(x)’:_gf' Té’f' X=0, £, 2:-?!4‘;5 s MOT ﬂ/dm/ -sz_ﬁe_

5
> L b da g gl ek
K=o

(i) £6)= ,5:;_2. for %= LUK4,S & AOT a o decoule

i il
£01) = _-Ej___-g:;,..-;:a?

_ Y For xz0. L2, 324 &+ @ /J,.w;{.

E{~
x| © z 2 - g - /ijﬁ O and
{ & < /6
ﬂ{’)&’:f) 2 jl; Jo Jo P

“ Loy Gy B, S o EE
S e 935 %35 %35 "0 T 30

Xego

7 x| o * e
.}c’x}/ ot 9% 23

A | ,ﬂmjf

13)= PUX=23)= 1= Lot 4 9,6+8,3] =2

fxm/éﬂ Led X be Hhe pombe af Cops el &
a 754‘/} sx /glm é{_’,'
X 2

& P e § & S &
o7 19 &r 2o &2 220 o185 G o

P{';rj / 205

Ther; plz2X26)= P3)+ pre) z PeS) =20+ 0 /57919 =4,5S
PUXD3Z) = Ple)s Prs) 2 Prb) = 020 # Ol SF Er/= G 4.S
P XEG)= 1-PL K> L) = 1-LPcs) £P08) ] = 1_[::,Lf1fdfqu:¢?,-}_§'

PraLwbsle PeRit xdblz ©0; 55 @

Alp Giray Ozen | 0533 549 91 08 | alp@lecturemania.com | www.lecturemania.com



lecturemania

K Bl note o followringt )

i o Fhn 3 PIXD3)= p,ﬂ(&éj))
e “d_ /zzméa.c—f s PR 1-/(52;2-
" ; Lo, 3 = pPLXLZ) =EXE
0 £
g ::- d%/amuzé 3 —> /(Xé-?)
X

v 7oL
P z{:d Vaée,, wa‘mm j _f;é)oczéfa/ 4&/
xXpec

N = L ma/
H Note %a// afWr‘éa/ Vale ﬂ’e"ﬁgfza/ .
o

1Y)

:1‘ Hern oy Vrardle 7 e, 4"/% o averaZl

We_ Aaue,’
x. FCx)
(et = f[)()-’: KZ %

7% e 2:74&
74:/ [/ ‘qoc.e e MJ f[Xj___%x /
7] 2 s )

2
[ = Vardx) = ECX - E{(x-,a)_/z/
S oo cbiatan s o= T

7.11 A police chief knows that

the probabilities of 0, 1,23,
or 4 burglaries on any given day are 0.12, 0.25, 0,39,

2.11) X : Momhor ot Buglariey #he
0.18, and 0.06. How many burglaries can the police

chiel expect per day? It is assumed here that the

police. chie f = Ylf%é.f_ On o ;rb-m cz/‘é;g
probability of more than 4 burglaries is negligible,
/f ) / .12 025

O/ 39 O, 1F 9,06
&
= = « = - &y .O,28 2.9,2 L a9,/ 4.&;64:1,7?
/CJ...E(X)__K%.X /Z&)_ O.6,/2 4 1 # I+ o 23
A) /:!})c/ ﬁé f,éwé/‘J &d/b/z,@/, @.f Shps ke~ af Juybﬁe}. .

2 2 _
FCxY)= 2"" XL f)= 020125 120,054 2% 013943 QI8 4 (P 004 = 4, O0F
X=o

o__‘ s 43‘9;"1153 - S ii J C = 1!07‘7‘ / g:
AI G.Iay 0“ Zen l 0_43 > 5“‘19 9 08 I aip:t_'i iECtLH‘EI! 1arl lia.CCiil * U‘J\."!\.'&.’.EECH.:’S’-’-"..H ania.com
p | = '




lecturemania

j/-”/w/' ot Licrete Lx é‘/%//&ﬂ.c
K L=ch &3%//%/74@,4_ yai /—T{C o) C/afac,ré/Mu We.

shoold lecyn Hhew Fo oo 14)’{4 Twhich  diAsbe o
) wte /o J‘cﬂ/be— e 9%.::429/:. &

¥ We wde formolos for pear and veorce For
Py Wa%‘c_ b, ot MOT caltotte Froon
boasic. dehutnn we faw lan?. |
i daddotsn 5 chaochiised by i paombit,
/(;g p ﬂe(fgn— oo r;ézgzéfa/__aéwb#aﬂ_
(D The  Biramial Litibostoz

X~ Binamial (n;p)
whre. o NMambe— oF M@éﬂeﬂa@/ vate

P /:;Xea-/ //aéaér:/}t ﬁlfuéce_l:.&
X : /V(/M@- 494 Svece £ L.

P(X:X):: f/x/ :/X/y./ﬂx//_/}”")f

= f_[x).:ﬂyﬂ c— 2 VarldX)= 2.2- //-79)

Lopamber; /) = »!  plnat) oo r=xt1)
f( Aya /}‘ ‘;./(ﬂ—c‘f).} = x_/

f&m/é,-ﬂ bouke thal/ //%2/‘ Scorel 43X a?[j/“ j;&?/éz/
Shots. I ke makes 12 ki L a pame, WPT Ae
scored T F o 7
X o Boropiad (a= 2} p=0:43)

3 /2-%
PUX=P)=F(3)= (). 0.43. 652 = a%_’;
Alp Giray Ozen | 0533 549 91 08 | alp@lecturemania.com | www.lecturemania.com C




lecturemania

8.15 It is known that 20 percent of all persons given a
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